Quiz 5; Finance 4360; Fall 2007; 10:00 Class; Version 1
Name __________________________




Version 1

Instructions:

1)  Make sure the person who is sitting next to you has a different version of the quiz than you do.

2)  Do not separate this page from the following pages.

3) Write your name on this answer sheet and on the quiz.

4) Write the best answer (a, b, c, d, e, f, or g) to each question in the space provided below.  This first page is what I will grade.

Answers:

1. _____

2. _____

3. _____

4. _____

5. _____
1. PMF Inc. is equally likely to have EBIT this coming year of $10 million, $15 million, or $20 million. Its corporate tax rate is 35%, and its investors pay a 15% tax rate on income from equity and a 40% tax rate on interest income. What is the expected effective tax advantage of debt for interest expense between $10 million and $15 million (ignore carryforwards).
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b. .35

c. 
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d. 
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2. Global Pistons (GP) has common stock with a market value of $200 million and debt with a value of $100 million. Investors expect a 15% return on the stock and a 6% return on the debt. Assume perfect capital markets. Suppose GP issues $100 million of new shares to buy back the debt. What is the expected return on the stock after this transaction?
a. 
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c. 6%
d. 
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e. 15%

f. 
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g. 
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3. Kurz Manufacturing is currently an all-equity firm with 20 million shares outstanding and a stock price of $7.50 per share. Although investors currently expect Kurz to remain an all-equity firm, Kurz plans to announce that it will borrow $50 million and use the funds to repurchase shares. Kurz will pay interest only on this debt, and it has no further plans to increase or decrease the amount of debt. Kurz is subject to a 40% corporate tax rate. What is Kurz’s share price just before the share repurchase (but after the debt issue)?
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d.  
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e.  7.50

f.  
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4. Dynron Corporation’s primary business is natural gas transportation using its vast gas pipeline network. Dynron’s assets currently have a market value of $150 million. The firm is exploring the possibility of raising $50 million by selling parts of its pipeline network and investing the $50 million in a fiber-optic network to generate revenues by selling high-speed network bandwidth. While this new investment is expected to increase profits, it will also substantially increase Dynron’s risk. If Dynron is levered, would this investment be more or less attractive to equity holders than if Dynron has no debt?
a. Neither one, the investment will be neither more not less attractive.

b. More since stockholders gain at the expense of the bondholders from the increase in profits.

c. More since stockholders gain at the expense of the bondholders from the increase in risk.
d. Less because the stockholders will be forced to share the increase in profits with bondholders.

e. More because of the tax shield from the existing debt.

f. More than one of the above are correct.

5.  In general, a firm’s managers know more about the value of a firm than outside investors. How is this asymmetric information related to a firm’s capital structure decisions?

a. Investors will view a firm’s decision to issue debt as a signal of management’s confidence in the firm.

b. Managers will prefer to fund investments with retained earnings or debt rather than stock when the firm’s equity is underpriced.

c. Firms tend to issue equity when information asymmetries are minimized, such as immediately after earnings announcements.

d. Stock prices decline when a firm announces an equity issue.

e. All of the above.
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